

## Задача 15

$$\textcircled{4} g(s) = \sum_{m \geq M} C_m (s - s_0)^m, \quad C_m \neq 0$$

Если  $M \geq 0$ , то  $s_0$  — точка  $M$ -го

полюса для  $g$ . Тогда,

$$\exists \delta > 0 \exists! \psi \in \mathcal{A}(B_\delta(s_0)) \forall z \in B_\delta(s_0)$$

$$\psi(z) \neq 0 \text{ та } g(z) = (z - s_0)^M \psi(z)$$

$$\frac{g'(z)}{g(z)} = \frac{M(z - s_0)^{M-1} \psi(z) + (z - s_0)^M \psi'(z)}{(z - s_0)^M \psi(z)}$$

$$= \frac{M}{z - s_0} + \frac{\psi'(z)}{\psi(z)} \quad \forall z \in \check{B}_\delta(s_0)$$

звигна формула, что  $T$ -ка  $s_0$  —  
полюс 1-го порядка для  $\frac{g'}{g}$  та

$$\operatorname{Res}_{s=s_0} \left( \frac{g'(s)}{g(s)} \right) = M$$

Если  $M < 0$ , то точка  $s_0$  — полюс

$(-M)$ -го порядка для  $g$ . Тогда,

$$\exists \delta_1 > 0 \exists! \psi \in \mathcal{A}(B_{\delta_1}(s_0)) \forall z \in B_{\delta_1}(s_0)$$

$$\psi(z) \neq 0 \text{ та } \forall z \in \check{B}_{\delta_1}(s_0) : g(z) = \frac{\psi(z)}{(z - s_0)^{-M}}$$

$$\frac{g'(z)}{g(z)} = \frac{\frac{M}{(z - s_0)^{-M+1}} \psi(z) + (z - s_0)^{-M} \psi'(z)}{\frac{1}{(z - s_0)^{-M}} \cdot \psi(z)} =$$

$$= \frac{M}{z - s_0} + \frac{\psi'(z)}{\psi(z)} \quad \forall z \in \check{B}_{\delta_1}(s_0)$$

Тогда, так как маємо, что

$$\operatorname{Res}_{s=s_0} \left( \frac{g'(s)}{g(s)} \right) = M$$